# MATHEMATICAL SCIENCES AND APPLICATIONS E-NOTES 5 (1) 64-69 (2017) ©MSAEN

# On the hyper-gamma function

Mustafa Bahşi and Süleyman Solak\*

(Communicated by Nihal YILMAZ ÖZGÜR)

#### Abstract

In this paper, we introduce a new generalization for the gamma function as hyper-gamma function. Some identities and integral representation are obtained for the this new generalization.

Keywords: Gamma function; generalization; hyper-gamma function.

AMS Subject Classification (2010): Primary 33B15; Secondary 05A10; 05A19.

\*Corresponding author

## 1. Introduction

There are a few special functions in mathematics that have particular significance and many applications in many branches such as probability, statistics, physics, engineering, and other mathematical sciences. One of those functions is the Euler's gamma function. For x > 0, the Euler's gamma function is defined as

$$\Gamma\left(x\right) = \int_{0}^{\infty} e^{-t} t^{x-1} dt$$

For extensions of the gamma function to complex variables and for the basic properties see [12, p. 235-264]. The recursion formula for the gamma function

 $\Gamma\left(x+1\right) = x\Gamma\left(x\right)$ 

is well known [12] and this yields

 $\Gamma\left(x+n\right) = (x)_n \,\Gamma\left(x\right)$ 

where  $(x)_n$  is the Pochhammer symbol defined as

$$(x)_0 = 1$$
 and  $(x)_n = x(x+1)(x+2)\cdots(x+n-1)$ .

The gamma function has very extensive literature, especially; recently, numerous papers have been published concerning with inequalities for the gamma and related functions [1,2,3,4]. Anderson et all. [3] obtained

$$\lim_{x \to \infty} \frac{\log \Gamma\left(1 + \frac{x}{2}\right)}{x \log x} = \frac{1}{2}.$$
(1.1)

Anderson and Qiu [2] proved that

$$\lim_{x \to \infty} \frac{\log \Gamma(x)}{(x-1)\log (x-1)} = 1$$
(1.2)

and for x > 1,

$$x^{(1-\gamma)x-1} < \Gamma(x) < x^{x-1}$$
(1.3)

Received: 18–February–2016, Accepted: 10–March–2017

where  $\gamma$  is the Euler–Mascheroni constant.

Gamma and related functions have some generalizations [5,6,7,8]. For example, Chaudhry and Zubair [5] have introduced the following extension for the gamma function

$$\Gamma_{p}\left(x\right) = \int_{0}^{\infty} e^{-t-pt^{-1}} t^{x-1} dt$$

where Re(p) > 0.

In this paper, we introduce a new generalization for the gamma function as *n*th hyper-gamma function of order *r* defined as

$$\Gamma_n^{(r)}\left(s\right) = \sum_{p=0}^n \Gamma_p^{(r-1)}\left(s\right), \qquad (r \ge 1, n \ge 0 \text{ and } Re(s) > 0)$$

where  $\Gamma_0^{(n)}(s) = \Gamma(s)$ ,  $\Gamma_n^{(0)}(s) = \Gamma(s+n)$  and  $\Gamma(s)$  is the classical gamma function. We give the name "hypergamma function" to our generalization because its representation is similar to the representation of hyperharmonic number see [9,10].

In section 2, we study some properties of  $\Gamma_n^{(r)}(s)$ . Moreover, we give two limits and an inequality concerning with  $\Gamma_n^{(r)}(s)$ .

## 2. The main results

**Theorem 2.1.** Let  $\Gamma_n^{(r)}(s)$  be nth hyper-gamma function of order r. If  $r \ge 1$  and  $m \ge 0$ , then

$$\Gamma_{n}^{(m+r)}\left(s\right) = \sum_{p=0}^{n} \left(\begin{array}{c} n+r-p-1\\ r-1 \end{array}\right) \Gamma_{p}^{(m)}\left(s\right)$$

*Proof.* Let  $(a_n)$  and  $(a^n)$  be two real initial sequences. The entries  $a_n^k$  corresponding to these sequences are determined recursively by the formulas

$$\begin{aligned} a_n^0 &= a_n, \quad a_0^n = a^n & (n \ge 0) \\ a_n^k &= a_n^{k-1} + a_{n-1}^k & (n \ge 1, k \ge 1) \end{aligned}$$

The entries  $a_n^k$  have the following symmetric relation[10, relation 2]:

$$a_n^k = \sum_{i=1}^k \left( \begin{array}{c} n+k-i-1\\ n-1 \end{array} \right) a_0^i + \sum_{t=1}^n \left( \begin{array}{c} n+k-t-1\\ k-1 \end{array} \right) a_t^0.$$
(2.1)

It is clear that  $\Gamma_n^{(r)}(s)$  has the recurrence relation as follows:  $\Gamma_n^{(r)}(s) = \Gamma_n^{(r-1)}(s) + \Gamma_{n-1}^{(r)}(s)$ . Hence, If we select  $a_n^0 = \Gamma_n^{(m)}(s)$  and  $a_0^n = \Gamma_0^{(m+n)}(s) = \Gamma(s)$ ,  $n \ge 1$ , then  $a_n^r = \Gamma_n^{(m+r)}(s)$  and from relation (2.1) we have

$$\Gamma_{n}^{(m+r)}(s) = \sum_{i=1}^{r} \binom{n+r-i-1}{n-1} \Gamma(s) + \sum_{t=1}^{n} \binom{n+r-t-1}{r-1} \Gamma_{t}^{(m)}(s)$$
$$= \Gamma(s) \sum_{i=0}^{r-1} \binom{n+r-i-2}{n-1} + \sum_{t=0}^{n-1} \binom{n+r-t-2}{r-1} \Gamma_{t+1}^{(m)}(s).$$
(2.2)

With selections k = r - i - 1 and b = n - t - 1, the Eq. (2.2) is written as

$$\Gamma_{n}^{(m+r)}(s) = \Gamma(s) \sum_{k=0}^{r-1} \binom{n+k-1}{n-1} + \sum_{b=0}^{n-1} \binom{b+r-1}{r-1} \Gamma_{n-b}^{(m)}(s).$$

From the following nice combinatorial identity [11, p. 160]

$$\sum_{k=0}^{r-1} \left( \begin{array}{c} n+k-1\\ n-1 \end{array} \right) = \left( \begin{array}{c} n+r-1\\ n \end{array} \right), \tag{2.3}$$

we have

$$\Gamma_{n}^{(m+r)}(s) = \binom{n+r-1}{n} \Gamma(s) + \sum_{b=0}^{n-1} \binom{b+r-1}{r-1} \Gamma_{n-b}^{(m)}(s)$$
$$= \sum_{b=0}^{n} \binom{b+r-1}{r-1} \Gamma_{n-b}^{(m)}(s)$$
$$= \sum_{p=0}^{n} \binom{n+r-p-1}{r-1} \Gamma_{p}^{(m)}(s)$$

where p = n - b. Thus the proof is completed.

$$i) \Gamma_n^{(r)}(s) = \sum_{p=0}^n \left[ \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) \Gamma(s+p) \right].$$
(2.4)

$$ii) \Gamma_n^{(r)}(s) = \Gamma(s) \sum_{p=0}^n \left[ \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) (s)_p \right]$$
(2.5)

where  $(s)_{p}$  denotes the Pochhammer symbol.

$$iii) \Gamma_n^{(r)}(1) = \sum_{p=0}^n \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) p!.$$

$$iv) \Gamma_n^{(1)}(s) = \Gamma(s) \sum_{p=0}^n (s)_p.$$

$$v) \Gamma_1^{(r)}(s) = (r+s) \Gamma(s).$$

$$vi) \Gamma_1^{(1)}(1) = 2.$$

$$(2.6)$$

**Theorem 2.2.** The *n*th hyper-gamma function of order r,  $\Gamma_n^{(r)}(s)$ , has the following integral representation

$$\Gamma_{n}^{\left(r\right)}\left(s\right)=\int\limits_{0}^{\infty}e^{-u^{\alpha}}u^{\alpha s-1}du$$

where  $\alpha = \begin{bmatrix} \sum_{p=0}^{n} \begin{pmatrix} n+r-p-1 \\ r-1 \end{pmatrix} (s)_{p} \end{bmatrix}^{-1}$ .

*Proof.* Let  $\alpha$  be as  $\alpha = \left[\sum_{p=0}^{n} \binom{n+r-p-1}{r-1} (s)_{p}\right]^{-1}$ . Then by using the representation in (2.5) of  $\Gamma_{n}^{(r)}(s)$ , we obtain

$$\Gamma_n^{(r)}(s) = \alpha^{-1} \Gamma(s) = \alpha^{-1} \int_0^\infty e^{-t} t^{s-1} dt = \int_0^\infty e^{-t} \frac{t^s}{\alpha t} dt.$$

If we make change of variable  $t = u^{\alpha}$ , we have  $dt = \alpha u^{\alpha-1} du$  and

$$\Gamma_n^{(r)}(s) = \int_0^\infty e^{-u^\alpha} \frac{u^{\alpha s}}{\alpha u^\alpha} \alpha u^{\alpha - 1} du$$
$$= \int_0^\infty e^{-u^\alpha} u^{\alpha s - 1} du.$$

**Theorem 2.3.** For the nth hyper-gamma function of order r,  $\Gamma_n^{(r)}(s)$ , we have

$$\sum_{k=1}^{r} \Gamma_{n}^{(k)}(s) = \Gamma_{n+1}^{(r)}(s) - \Gamma(s+n+1)$$

*Proof.* By using the representation in (2.4) of  $\Gamma_n^{(r)}(s)$ , we obtain

$$\sum_{k=1}^{r} \Gamma_{n}^{(k)}(s) = \sum_{k=1}^{r} \sum_{p=0}^{n} \binom{n+k-p-1}{k-1} \Gamma(s+p)$$
$$= \sum_{p=0}^{n} \left[ \Gamma(s+p) \sum_{k=1}^{r} \binom{n+k-p-1}{k-1} \right].$$

If we use the nice combinatorial identity in (2.3) we have

$$\begin{split} \sum_{k=1}^{r} \Gamma_n^{(k)}\left(s\right) &= \sum_{p=0}^{n} \left(\begin{array}{c} n+r-p\\ r-1 \end{array}\right) \Gamma\left(s+p\right) \\ &= \sum_{p=0}^{n+1} \left(\begin{array}{c} n+r-p\\ r-1 \end{array}\right) \Gamma\left(s+p\right) - \Gamma\left(s+n+1\right) \\ &= \Gamma_{n+1}^{(r)}\left(s\right) - \Gamma\left(s+n+1\right). \end{split}$$

Thus the proof is completed.

**Theorem 2.4.** For the nth hyper-gamma function of order r,  $\Gamma_n^{(r)}(s)$ , the following identities hold

$$i)\sum_{p=1}^{n} p\Gamma_{p}^{(r)}(s) = n\Gamma_{n}^{(r+1)}(s) - \Gamma_{n-1}^{(r+2)}(s)$$
$$ii)\sum_{p=1}^{r} p\Gamma_{n}^{(p)}(s) = r\Gamma_{n+1}^{(r)}(s) - \Gamma_{n+2}^{(r-1)}(s) + (n+s)\Gamma(n+s+1)$$

*Proof. i*) It is clear that

$$\sum_{p=1}^{n} p \Gamma_{p}^{(r)}(s) = \Gamma_{1}^{(r)}(s) + 2\Gamma_{2}^{(r)}(s) + 3\Gamma_{3}^{(r)}(s) + \dots + (n-1)\Gamma_{n-1}^{(r)}(s) + n\Gamma_{n}^{(r)}(s)$$

$$= \Gamma_{0}^{(r)}(s) + \Gamma_{1}^{(r)}(s) + \Gamma_{2}^{(r)}(s) + \dots + \Gamma_{n}^{(r)}(s) - \Gamma_{0}^{(r)}(s)$$

$$+ \Gamma_{0}^{(r)}(s) + \Gamma_{1}^{(r)}(s) + \Gamma_{2}^{(r)}(s) + \dots + \Gamma_{n}^{(r)}(s) - \Gamma_{0}^{(r)}(s) - \Gamma_{1}^{(r)}(s)$$

$$\vdots$$

$$+ \Gamma_{0}^{(r)}(s) + \Gamma_{1}^{(r)}(s) + \dots + \Gamma_{n}^{(r)}(s) - \Gamma_{1}^{(r)}(s) - \dots - \Gamma_{n-1}^{(r)}(s)$$

Hence

$$\sum_{p=1}^{n} p \Gamma_{p}^{(r)}(s) = n \sum_{p=0}^{n} \Gamma_{p}^{(r)}(s) - \sum_{p=0}^{n-1} \Gamma_{p}^{(r+1)}(s)$$
$$= n \Gamma_{n}^{(r+1)}(s) - \Gamma_{n-1}^{(r+2)}(s).$$

The proof of *ii*) is similar to the proof of *i*).

**Theorem 2.5.** For the *n*th hyper-gamma function of order r,  $\Gamma_n^{(r)}(s)$ , the following limits hold

$$i) \lim_{s \to \infty} \frac{\log \Gamma_n^{(r)} \left(1 + \frac{s}{2}\right)}{s \log s} = \frac{1}{2}$$
$$ii) \lim_{s \to \infty} \frac{\log \Gamma_n^{(r)} \left(s\right)}{(s-1) \log \left(s-1\right)} = 1.$$

*Proof. i*) From Corollary 2.1 *ii*), we have

$$\Gamma_n^{(r)}\left(1+\frac{s}{2}\right) = \Gamma\left(1+\frac{s}{2}\right) \sum_{p=0}^n \left[ \left(\begin{array}{c} n+r-p-1\\r-1 \end{array}\right) \left(1+\frac{s}{2}\right)_p \right].$$

Hence

$$\lim_{s \to \infty} \frac{\log \Gamma_n^{(r)} \left(1 + \frac{s}{2}\right)}{s \log s} = \lim_{s \to \infty} \frac{\log \left(\Gamma \left(1 + \frac{s}{2}\right) \sum_{p=0}^n \left[ \left( \begin{array}{c} n+r-p-1\\r-1 \end{array} \right) \left(1 + \frac{s}{2}\right)_p \right] \right)}{s \log s}$$
$$= \lim_{s \to \infty} \frac{\log \Gamma \left(1 + \frac{s}{2}\right)}{s \log s} + \lim_{s \to \infty} \frac{\log \sum_{p=0}^n \left[ \left( \begin{array}{c} n+r-p-1\\r-1 \end{array} \right) \left(1 + \frac{s}{2}\right)_p \right]}{s \log s}$$

Since

$$\lim_{n \to \infty} \frac{\log \sum_{p=0}^{n} \left[ \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) \left(1+\frac{s}{2}\right)_{p} \right]}{s \log s} = 0$$

and from the Eq. (1.1), we obtain

$$\lim_{s \to \infty} \frac{\log \Gamma_n^{(r)} \left(1 + \frac{s}{2}\right)}{s \log s} = \frac{1}{2}$$

The proof of *ii*) is similar to the proof of *i*).

**Theorem 2.6.** For s > 1, the following inequalities hold

$$\left(\begin{array}{c}n+r\\r\end{array}\right)s^{(1-\gamma)s-1} < \Gamma_n^{(r)}\left(s\right) < \left(\begin{array}{c}n+r\\r\end{array}\right)\left(s+n\right)^{s+n-1}$$

where  $\gamma$  is the Euler–Mascheroni constant.

*Proof.* For s > 1, it is true that

$$\begin{split} \sum_{p=0}^{n} \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) \Gamma\left(s\right) &\leq \quad \Gamma_{n}^{\left(r\right)}\left(s\right) = \sum_{p=0}^{n} \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) \Gamma\left(s+p\right) \\ &\leq \sum_{p=0}^{n} \left( \begin{array}{c} n+r-p-1\\ r-1 \end{array} \right) \Gamma\left(s+n\right) \end{split}$$

By considering combinatorial identity in (2.3), the last inequalities above are written as

$$\begin{pmatrix} n+r \\ r \end{pmatrix} \Gamma(s) \le \Gamma_n^{(r)}(s) \le \begin{pmatrix} n+r \\ r \end{pmatrix} \Gamma(s+n) \, .$$

By using the inequalities in (1.3) for x > 1,

$$x^{(1-\gamma)x-1} < \Gamma(x) < x^{x-1},$$

we have

$$\left(\begin{array}{c}n+r\\r\end{array}\right)s^{(1-\gamma)s-1} < \Gamma_n^{(r)}\left(s\right) < \left(\begin{array}{c}n+r\\r\end{array}\right)\left(s+n\right)^{s+n-1}$$

#### 3. Conclusion

In this work, we define a new generalization for the gamma function and study some properties of this new generalization. We think that our study can be a reference to future researches on the bounds for values of  $\Gamma_n^{(r)}(s)$  and relations of other generalizations and functions with  $\Gamma_n^{(r)}(s)$ .

#### References

- [1] Alzer, H., Inequalities for Euler's gamma function, Forum Math., 20(6)(2008), 955–1004.
- [2] Anderson, G.D. and Qiu, S.-L., A monotonicity property of the gamma function, Proc. Amer. Math. Soc., 125(1997), 3355–3362.
- [3] Anderson, G.D., Vamanamurthy, M. K. and Vuorinen, M., Special functions of quasiconformal theory, Exposition. Math., 7(1989), 97-136.
- [4] Batir, N., Inequalities for the gamma function, Arch. Math., 91(2008), 554–563.
- [5] Chaudhry, M.A. and Zubair, S.M., Generalized incomplete gamma functions with applications, J. Comput. Appl. Math., 55(1994), 99–124.
- [6] Chaudhry, M.A., Qadir, A., Rafique, M. and Zubair, S.M., Extension of Euler's beta function, J. Comput. Appl. Math., 78(1997), 19–32.
- [7] Chaudhry, M.A. and Zubair, S.M., On the decomposition of generalized incomplete gamma functions with applications to Fourier transforms, J. Comput. Appl. Math., 59(1995), 253–284.
- [8] Chaudhry, M.A. and Zubair, S.M., Extended incomplete gamma functions with applications, J. Math. Anal. Appl., 274(2002), 725–745.
- [9] Conway, J.H. and Guy, R.K., The book of numbers, Springer-Verlag, New York, 1996.
- [10] Dil, A. and Mezö, I., A symmetric algorithm hyperharmonic and Fibonacci numbers, Appl. Math. Comput., 206(2008), 942–951.
- [11] Graham, R.L., Knuth, D.E. and Patashnik, O., Concrete mathematics, Addison Wesley, 1993.
- [12] Whittaker, E.T. and Watson, G.N., A Course of Modern Analysis, Cambridge Univ. Press, Cambridge, 1958.

## Affiliations

MUSTAFA BAHŞI ADDRESS: Aksaray University, Education Faculty, Aksaray-TURKEY. E-MAIL: mhvbahsi@yahoo.com

SÜLEYMAN SOLAK ADDRESS: N. E. University, A. K. Education Faculty, Konya-TURKEY. E-MAIL: ssolak42@yahoo.com